ANIKBEREER (P25 %) No. 1
Kk A M, J1] J& IR J1
T E AL i & H W OH G H & B0 IR

" OH X 3 # ¥ m /n i) ¥ m /n ) ¥ m /n ) ¥ m /n
I p H 74 ~ 76 |75 010,6] 7.2 ~ 78 |74 |0,6] 72 ~ 78|76 |[0,6[77 ~ 8280 0,6
TE D O 85 ~ 11 [98 [0,6] 78 ~ 11 |94 |0,6] 6.9 ~ 11 [88 [0,6] 86 ~ 12 10 [0 /6
B3 BOD 05 ~ 20 [1.1]0,6] 07 ~ 40 |16 [1,6] 06 ~ 1.6 | 1.2 [0 ,6[ <05 ~ 1.6 [ 0.7 ]0,6
5 S S 1 ~ 10 4 [o,6] 1 ~ 9 4 [o,6] 3 ~ 21 9 [0,6] <1 ~ 2 1 [0/6
BN T 45 ~ 700 | 370 |0 ;2| 45 ~ 490 | 270 |0 ;2| 68 ~ 92 80 [0 ,2] 40 ~ 330 [ 190 [0 /2
B [~ i 0.5 |- /1 0.5 ¥ |- /1 0.5 ¥ |- /1 0.5 ¥ |- /1
T ND ¥ |10 /1 ND ¥ |10 /1 ND * |10 /1 ND * |10 /1
TILx L KER ND * [0 /1 ND * [0 /1 ND £ |0 /1 ND £ |0,/ 1
L <0.002 * [0 /1 <0.002 * [0 /1 <0.002 * [0 /1 <0.002 x [0 /1
TR L <0.001 * [0 /1 <0.001 x [0 /1 <0.001 x [0 /1 <0.001 x [0 /1
2 ) <0.005 x [0 /1 <0.005 x [0 /1 <0.005 x [0 /1 <0.005 x [0 /1
% VA IZA=OA <0.005 x [0 /1 <0.005 x [0 /1 <0.005 x [0 /1 <0.005 x [0 /1
H it <0.001 * [0 /1 <0.001 * [0 /1 <0.001 * [0 /1 <0.001 x [0 /1
TR ER <0.0005 x [0 /1 <0.0005 x [0 /1 <0.0005 x [0 /1 <0.0005 x [0 /1
e ommmesx| 0.12 ~ 0.55 0.25 [0 /6] 0.09 ~ 0.50 [0.22 [0 /6] 0.09 ~ 0.48 [0.22 [0 /6| 0.26 ~ 0.54 |0.43 |0 / 6
BN 0.3 * |10 /1 0.2 * |0 /1 0.3 * |10 /1 0.1 £ |0,/ 1
ESES <0.1 * [0 /1 <0.1 * |0 /1 0.3 * |0 /1 <0.1 * [0 /1
& <0.002 x |-, 1 <0.002 x |-/ 1 <0.002 x |-, 1 <0.002 x |-, 1
23 i 0.007 x |-/ 1 0.006 x |-/ 1 0.009 x |-, 1 0.003 x |-, 1
W Vi EEk 0.28 x |-/ 1 0.31 x |-, 1 0.23 x |-, 1 0.065 x |-/ 1
H | iRt~ 0.002 x |-/ 1 <0.002 x |-/ 1 0.006 x |-, 1 <0.002 x |-, 1
H VA=A <0.005 x |-/ 1 <0.005 x |-/ 1 <0.005 x |-, 1 <0.005 x |-, 1
7 x/)—VHR <0.02 * [-,1 <0.02 * [-,1 <0.02 * [-,1 <0.02 * [-,1
PR HE B 0.005 ~ 0.039 [0.018 | -/ 6 0.011 ~ 0.022 [0.016 | = / 6] 0.002 ~ 0.027 |0.016 | - / 6] 0.004 ~ 0.034 |0.021 |-/ 6
- oy 0.024 ~ 0.096 [0.060 | -/ 2| 0.031 ~ 0.078 [0.055| -/ 2] 0.039 ~ 0.063 |0.051 [ - / 2| 0.029 ~ 0.059 [0.044 | -/ 2
% ToEZTHEZE S | <0.01 ~ 0.02 |0.01 |-/ 6] <0.01 ~0.03 [0.01 [-,6] 0.02~0.22 [0.10]|-/,6 <0.01 <0.01]-/6
¥ (RS 0.12 ~0.54 |0.25 |-,6] 0.09 ~0.49 [0.22 |-,6| 0.08~0.46 |0.21 [-,6] 0.26 ~0.54 [0.43|-,6
FASEREZE # | <0.01 ~ 0.01 [<0.01| -/ 6] <0.01 ~0.01 [<0.01{-/6]<0.01 ~0.02 |0.0l |-,6 <0.01 <0.01]-/6
PEEHR 042 ~1.4 1091 |-,2| 042 ~1.0 [0.71 |-,2] 0.88 ~ 1.2 1.0 |-/2] 066 ~1.7 1.28 [ -/ 2
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ANKERERER (FR25FE) No. 2
7K Ik J& s JI AN 1E JI
P E A = IR 5 gk ) i a0 f HE

IH H & ) ) Im /n ) S Im /n ) S Im /n ) Y jm /n
H p H 78 ~ 83|80 0,675 ~ 77]l76l0,6] 77 ~81[79]0,6] 74 ~ 7976 10,6
e D O 88 ~ 13 [ 10 [o,6]/ 79 ~ 12110 lo,6/70 ~ 1188 J0,6/89 ~ 1311 [0,6
= BOD 06 ~ 1.9 ]1.0fo,6]06 ~ 1.7]100,6[<05 ~ 1307 0,6 1.0 ~ 237[16 [0,6
55 S S d ~ 4 o lo/6] <1 ~ 6 2 lo/6] 2 ~ 8 5 [o,6] 1 ~ 4 2 [0/6
B RBERE | 210 ~ 490 [ 350 [0, 2] 230 ~ 790 [ 510 [0/ 2 790 790 [0 , 2[9,200 ~ =21,00[=16.600[2 , 2
B [~ i 0.5 * |-/ 1 0.5 * |-, 1 0.5 * |-, 1 0.5 * |-, 1
% ND % 0 /1 ND % [0 /1 ND x [0 /1 ND x [0 /1
T LR LK ER ND x [0 /1 ND x [0 /1 ND x [0 /1 ND x [0 /1
A <0.002 % |0 /1 <0.002 % [0 /1 <0.002 % |0 /1 <0.002 % [0 /1
BRI L <0.001 % |0 /1 <0.001 % [0 /1 <0.001 % |0 /1 <0.001 % [0 /1
E% 5@.} <0.005 % |0 /1 <0.005 % [0 /1 <0.005 % |0 /1 <0.005 % |0 /1
o [ Affizes <0.005 % |0 /1 <0.005 % [0 /1 <0.005 % |0 /1 <0.005 % [0 /1
q W% <0.001 % |0 /1 <0.001 % [0 /1 <0.001 % |0 /1 <0.001 % [0 /1
B <0.0005 % |0 /1 <0.0005 % |0 /1 <0.0005 x |0 /1 <0.0005 x |0 /1
s commweEs] 0.27 ~ 0.53 10.42 |0 /6] 0.23 ~ 0.48[0.40 [0 /6] 0.16 ~ 0.33]0.24 [0 , 6] 0.23 ~ 0.75 [0.45 [0 ; 6
o3 0.1 % [0 /1 <0.1 % [0 /1 0.2 x [0 /1 <0.1 x [0 /1
ESES 0.1 x [0 /1 <0.1 x [0 /1 1.0 x [0 /1 <0.1 x [0 /1
i <0.002 * |-, 1 <0.002 * |-, 1 <0.002 * |-, 1 <0.002 * |-, 1
e i gh 0.005 * |-, 1 0.004 * |-, 1 0.007 * |-, 1 0.005 * |-, 1
| WRRrERk 0.072 * |-, 1 0.21 * |-, 1 0.053 * |-, 1 0.36 * |-, 1
[ VRfRE~ T <0.002 x |-, 1 <0.002 * |-, 1 <0.002 * |-, 1 <0.002 * |-, 1
E A=A <0.005 * |-, 1 <0.005 * |-, 1 <0.005 * |-, 1 <0.005 * |-, 1
Tx ) LE <0.02 R <0.02 x |-/ 1 <0.02 x |-/ 1 <0.02 x |-, 1
pemeteRs  0.009 ~ 0.037[0.025 [ -, 6]0.011 ~0.043]0.027] -, 6[0.014 ~0.070[0.034 | - , 6[0.028 ~0.064 [0.040] -, 6
N P 0.030 ~ 0.061[0.046 | =, 20.033 ~ 0.065[0.049 | -, 2]0.047 ~0.099 [0.073 | =, 2]0.045 ~0.099 [0.072] -, 2
% 7 E=THEZESE [<0.01 ~ 0.01 [<0.01] -, 6]<0.01 ~0.03 [0.01 [-,6] 0.01 ~0.03 [0.02]-,6[<0.01 ~0.06 [0.03]-,6
i | MHEEREZ=E | 0.27 ~0.53 [0.42 [~/ 6] 0.23 ~0.48 [0.40 [, 6] 0.16 ~0.33 [0.23 [, 6] 0.23 ~0.74 [0.44 [~/ 6
T ERTE % 7 <0.01 <0.01] -/ 6[<0.01 ~0.01 [<0.01]-,6[<0.01 ~0.01 [<0.01]-,6][<0.01 ~0.01 [0.01[-,6
TR 057 ~17 | 1.1 [-,2] 063~082 [0.73]-,2] 0.63~0.96 [0.80]-,2] 0.75 ~1.2 [0.98][-,2
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